A



ol
S
ol
X

b
]
<

T._O

@ 571, 33 71 @ 671, 35 7

@ 571, 35 7

® 774, 35 7

@ 671, 33 71



thS O3 28 AABC oA AB = AC = CD ©]1, /ADC = 28°
Ao, 1x & Z7]E otofet,

A

X

B 28 ™1y




e I™olA 2x o] 2717

105°

85, 80°

O 75° @ 80° @ 85° @ 90°

® 95°



= 90 o Hi Aot 4 g2 A7

@
@
® 3 AC ¢ HHAE OA, OC 2 E8#9] =82 HAfj&oct,
@ A9 FHA CEFEHOR o= S+ 1 70|tk

®

d BC 9 3 BC & S84l £g-2 FEo|c,



VR VY VRN
6. T 13} o] 5.0ptAB = a, 5.0ptBC = 24, 5.0ptAC = 3¢ & o,
(BOC 9] 37| stz




FAE OAB 9] Wol7} 30ecm? &, F41=& OCD ©] gol& 75t
=F.




HH2]Z9] do]7t 8em ©al, T4 7
=7

@ 2rcm? @ 4mwem?
@ 8mcm? ® 10mcm?

® 6mcm?



=

oo

v % 7ol g SHo2 87

52
rlo
Y

@ &g o] gdol7t Zrh

@ R tiZAde] dojzt g
@ BE Wzl 2717F Zr
@ HE Q7] 27]7} At

® Hn 7Hee] 7 Yzke] a7 BX72)
n

oltt.

rlo



10. o ™A ox 9 gk kel




11. o3 2"NA 2x & 2712

3x .
140

@® 35° @ 38° ® 40° @ 42° ® 46°



12. I"fA sx &) 37]E Eotoie},

@® 85° @ 90° ® 95° @ 100° ® 105°



13. o= Z™0A wx 9] 27|15 FsteiEt




14. o3 I"NA 2x & 272

@® 50° @ 45° ® 40° @ 35° ® 30°



15. o= Z™0lA wx 9] 27|15 Fsteiet




@ 120° ® 140°

@ 100°

@ 80°

D 60°



@ 48° @ 50° @ 55° ® 60°

@® 45°



18. the 199 ofFe o] Eele] Aol 1} el § &7

@ l=12n, S =187 @ 1= 14n, S = 187
® 1=20m S =201 @ [=16m, S = 24n

® 1= 14n, S = 20x



19. t= JReA et F2 0] o] dole?

A D
\

\

\

1

8cm

,'

/
|—l
B>~ _gem---TC

@ 4rem @ 6rcm ® 8mem

@ 10mcm ® (87— 16)cm



20. Thg AT £go] Eee] Folk?
® (167 +4)cm @ (127 +6)cm @

Tt--12em--7

® (97 +6)cm @ (5m+4)cm

® (37+4)cm



21. Thg IgelA AT HEo] Se o] Lole}
Kol 2 72t Fatofet.

cm



22. thg TA A




23. oF Tolq 42

i

e =9 o dol&?

@ (107 + 3)cm @ (6m+ 6)cm ® (87 + 6)cm

@ 25rcm ® (107 + 3)cm



283 e AAZEE ABCD oA

©°
=]

24. o

ofzt.

~

_--oCm- .

_.

ul






